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Panel 3
W EXAMPLE | Use the fact that the world population was 2560 million in 1950
an hillion in\]960 to/model the population of the world in the second half of

the 20th century. (Assume that thy growth rate 1s proportional to the population .t;i:f:.}%
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K EXAMPLE 2 The half-life of radium-226.C5{Ra) is 1590 years.
{a) A sample of radium-226 has 2 mass u Find a formula for the mass

of “@Ra that remains after 1 years,
(b) Find the mass after 1000 vears correct to the nearest milligram.
{c) When will the mass be reduced to 30 mg? B hl_ﬂ_ «l'
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